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General Instructions: -

This question paper consists of 38 questions, which are divided into
four sections: A,B,C,D.

All the questions are compulsory.

Question no 1 of Section A consists of Twenty Multiple choice
qguestions. Each question carries 1 mark.

Question no 21 to 29 of Section B consists of ninevery short answer

typequestions. Theanswer to each question may be given in about 25-

30 words. Each question carries 2 marks.




5. Question no 30 to 35 of Section C consists of six short answer type

questions. The answer to each question may be given in about 75-125
words. Each question carries 4 marks.

6. Question no 36 to 38 of Section D consists of three long answer type
gquestions. The answer to each question may be given in about 150-200
words. Each question carries 6 marks. Question no 36 will be answered

with the help of given passage.
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Which enemy did colonialism give rise to?
(a) Nationalism

(b) linguistics

(c) Casteism

(d) industrialization

2 | AT 9ed TOET | S 3 TaT ger 2 | e fhaawr g ? 1
CIEEERSER

() T=H Ay
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() TAaE AT

Man is born to live in poverty forever. Whose statement, is it?
(a) Herbert Spencer

(b) Adam Smith

(c) Karl Marx

(d) Robert Malthus




(?) ATeIH

Who gave the concept of ‘Sanskritization’?
(a) M.N. Srinivas

(b) G. S. Ghurye

(c) Charles Cooley

(d) Malthus
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Who is the author of the book ‘The Wealth of Nation’?
(a) M.N. Srinivas

(b) Adam Smith

(c) Karl Marx

(d) Robert Malthus
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(3) ATHTISE ISir

Social resources cannot be divided into which forms of capital?
(a) economic capital

(b) Cultural capital

(c) religious capital

(d) social capital
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What is the category of social units which are neither defined
as male nor female?

(a) Trans gender

(b) Third gender

(c) Fourth gender

(d) zero gender

FETLAAT o AN SATH | e § | FHFar A5l g ?
(37) IS AT AETHIT

(&) STreroT

GERIESEERIGLI

(3) FHTAAT

Which one of the following is not one of the three dimensions
of untouchability?

(a) exclusion or exclusion

(b) exploitation

(c) disrespect and subordination

(d) equality
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THITEHIT T TRFAATLAT AT AT o, TG HAT oheanr g ?
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GIEIER:IE:]

(F) STET

State is such a body which successfully claims a legal monopoly
in a particular area, whose statement is this?

(a) Max Weber

(b) Emile Durkheim

(c) Karl Marx

(d) August Comte
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(7) fawetr

Even after independence, India was divided into large provinces
called Presidencies, which of the following was not a
Presidency?

(a) Calcutta

(b) Bombay

(c) Madras

(d) Delhi
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Under which system, generally set questions are asked to a
relatively large number of people?

(a) interview

(b) survey

(c) schedule

(d) observation
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Which of the following is not a mode of public transport?
(a) Metro

(b) local bus

(c) train

(d) motorcycle
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What is the method of studying an event by observing it called?
(a) Questionnaire

(b) individual study

(c) observation

(d) survey
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In the year 1960, which English businessman took three villages
Kolkata, Govindpur, Sutanuti on lease on the banks
ofRiverHooghly?

(a) Job Charnock

(b) George Ford

(c) William Ford

(d) Weber
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T GIE SAH ATerST & o6 A i g ?

(37) IR O

() THETE

() SATTAET Fel

(%) Fglhdt faxerfer

Who is the author of the book The Source of Knowledge?
(a) Ram Mohan Roy

(b) Ranade

(c) Jyotiba Phule

(d) Kandukiri Virasalingam
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g FiTd T T T FF & gl ?

(37) 1960 = TgqF |

() 1970 F TF |

(F) 1980 & 39 §

(%) 1990 & T §

When did the second phase of Green Revolution start?
(a) in the 1960s

(b) in the 1970s

(c) in the 1980s

(d) in the 1990s
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AT | IETLRLOT il T sl ot T3 2
(37) 1990 F T |
() 1980 F T |
() 1970 F 39TF §

(%) 2000 & =915 §

When was the policy of liberalization adopted in India?
(a) in the 1990s

(b) in the 1980s

(c) in the 1970s

(d) in the 2000s
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TIAAAT I % T AT H FA (o LT T o ?
(*) 5

(<) 6

(F) 7

(?) 10

How many radio stations were there in India at the time of
independence?

(@) 5

(b) 6

()7

(d) 10




() HETATLT

Which was the first long running soap opera of India?
(a) buniyaad

(b) hum log

(c) Ramayana

(d) Mahabharata
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AT TPATRAT & {orT Taa=dr T T/ JUTH 97 ?
(37) 1857 =T |UTH

() 1942 FT AT ST AR

(7) 1957 =T GUTH

(%) 1842 =T 9UTH

Which was the first war of independence for Indian
nationalists?

(a) War of 1857

(b) Quit India Movement of 1942

(c) War of 1957

(d) War of 1842
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ST UGTSAT T U AigAT TTRATAT HITE ATl H qET
TR HAZL T2 ?

(31) WA BIST AR

EIGIERREEEIEICARD

(%) f=raehT se=re

(F) FETIOT ATV

Gufialo, a woman from northern hills became famous by
participating in which movement?

(a) Quit India Movement

(b) Civil Disobedience Movement

(c) Chipko Movement

(d) Champaran movement
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21

gHaT T qfd T st FAT E ?

What is lack of fulfilment of entitlement?

22

TEIETaar a7 Fag TAT 7T G ?

What is Sahaprasvita or KuvedaPratha?

23

A ST o6 igd & ?

What is Scheduled Tribe?

24

‘AT TSAT 7 FIEATT THAT il TSGd Hid § Ggaav ol g
I & dead § & qH Ao |

‘Linguistic states have helped in strengthening Indian unity'
Give two arguments in the context of the above.

25

TS TAT Y H A5 T AeqT T FT |

Explain any two differences between state and nation.

26

wTe Oy 7 e F=r E ?

What is the concept of 'smart city'?

27

R g a1 &= " fFH FRa g ?

What is interest group or pressure group?

28

AT TLHTL o HIH RIARA g ? ST USHITE T TFUSHIT Tl
T 970 ¢ |

What are the programs of the Government of India? Which
make employment and self-employment possible.

29

o N VL [alnN
SAS [ SAlrqleld % L ?r SEHEIUIERIERE
Give any two examples of tribal movement.
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9 & I H 989 ¥ a9y -
1. ‘{H@Fﬂ'chTUT

EEARAETAI
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ER ST

P W

Briefly explain the following -
1. Globalization

2. Liberalization

3. Sanskritization

4. Dominion caste

1+1+
1+1




31 | o TU==T a9 97 § Tg A= AT F AT ¥ g ? HSA 141+
STIRT 6T ST Fared| 2
What is OBC, how is it different from Scheduled Caste? what is
the role of Mandal Commission.

32 | RS T FT g ? GAeA0T TOITSAT &l THAT | 2 +2
What is project work? Explain the survey system.

33 | e F I H THATS Y — T+1+

1. HEASTST 1+1
2. XFqaTel
3. gaafr
I E ARG
Explain about the following —
1. Mahal Bari
2. Ryotwari
3. demarcation
4. Contract farming

34 | HSATHIU % Fhle AT AATH G447 § GHATY | 1+1+
Briefly explain any four dimensions of globalization. 1+1

35 | Ul svarae & ST s &l 90Ty | 2+2
Explain Chipko movement and Kisan movement.
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F TSI STTERTA | TFITET e[ [RIGTedl T garaAr af 7l | 1
oo afes IiF Brg omei T Wi Jvaw oo | 1+1+
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TU TSR, SHYHTE SRl ST Taree seaiad 4 Icae
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T AU THE F AW H ATgararel, qqRe S Searat

et of |




gl TAXerfenTd #T T&a& ‘T 99 A% Arersr § T7-79717 %
! I J@T ST THaT g, Iraid S[rordd gFdel Ush J&ATd sid
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TATE A fagdr faerg & q9da § qr& 7 9729 34 gU ‘T e
A 7 Reg @t Rred s=iv st F @idarg & [faw 5
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AT B |

1. TS OH Higd T F Tt 797 & g & foheehr awas
& ?

2. dgrat faRafer 7 fras forg oot &1 ot srqattea

T ?

foreaT Y AT JorTelt § FoRe eI iyt off ?

T TR AE T fReg A F A@h FAE ?

. T IE A AT § 1 qultﬂﬂchcu%”?

. TASTRTROT T ARl gl gall ?

Raja Ram Mohan Roy not only cited the modern principles
related to human and natural rights, but he also referred to
Hindu scriptures while opposing the practice of Sati.

The new system of education had a modern and liberal
tendency, the literature generated from the Renaissance, the
Reformation movement and the Enlightenment movement in
Europe were included in social science and language literature,
this new type of knowledge had humanistic, secular, and liberal
tendencies.

The arguments of Navya-Nyaya can be seen in Kandukiri
Virasalingam's book 'The Source of Knowledge, he also
translated texts written by Julius Huxley an eminent zoologist.
In support of widow remarriage, Ranade referred to the
scriptures in 'The Text of the Hindu Law' in which he described
the remarriage of widows according to the rules, in this context
he mentioned those aspects of the Vedas which allow widow
remarriage. And it is considered to be in accordance with the
scriptures.

o v AW




1. To whom did Raja Ram Mohan Roy refer in his protest the
practice of Sati?

2. Who wrote the Kandukiri Virasalingam and also translated
the texts ?

3. What are the trends in the new system of education?

4. Who is the author of 'The Text of the Hindu Law'?

5. What can be seen in 'The Source of Knowledge'?

6. Where did the renaissance movement take place?

37 | SEEifeTshrT ATATer T AT 97 g ? AAEieThig gRA | 2+ 4
g & a7y |
SREL
Freqoft % -
! 2+2+
1. 3 §=AT 5
2. 9reIIdr aX
3. SAEEAT Hifd
What is the status of demographic dividend? Explain the theory
of demographic transition.
Or
Make a comment -
1. Age Structure
2. Literacy rate
3. Population Policy
38 | UTH AT FAT g ? GATIAT T il BT T T T aua e | | 1+ 5
4T
ST HITd % TRTIHE T ARTCHE TUMHT ol faeqe § =741 | 3+ 3

FY|

What is Gram Sabha? Describe the three-tier system of
Panchayati Raj.

Or
Discuss in detail the positive and negative consequences of
Green Revolution.




